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Answer either in English or in Assamese

1. Answer any ten of the following as directed :
1x10=10

wer TAAIRE R e wbR ot i Ted fr s

(a) State whether o (sigma) is a population
parameter or statistic.

o (sigma) 2o e (7 dfow& e 341 |

(b) What is coefficient of variation?

PRI 39 [ 2

(c) Define equally likely cases.
SRR To=19 e i |
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If A and B are two independent events,
P(Au B) = P(A)+ P(B)-P(ANn B).

(Write True or False)

WA WF B Pl 7o WAl W, R
P(AuU B) = P(A) + P(B)- PIAN B).

(W= (7 e o)

What is meant by probability
distribution of a random variable?

i vore IRl 3% Lo e 2

What is the difference between the
variances of Binomial distribution and
Poisson distribution?

o S %5 357 AR LT 2

What is
distribution?

i SRS 35 2

marginal probability

Define purposive sampling.

ST elfonaAe e il |

Mention two methods of random

sampling.

i 2AfSbIR o1 &S Teas 341 |
If r=0-9, interpret the result.
Mt r=0-9 W, TR 2 & @2
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(3)

What is the relation between mean,
median and mode?

5T, NG N I T & 2

Define conditional probability.

ST TEIReR iee ford |
2
E(X)==—
(X) -
(Write True or False)
2 fx
EX)=<2—
X) N
(wm 1 Srem o)
Write the probability distribution

function of Poisson distribution.

5 351 STSIST 36 Ferco! oI |

If two values of a variable in a series are

_equal, how is the rank determined?

7 @B AT TR [ A 9P W (AR A
TR G @Fmed Feg =2

What is scatter diagram?
4 g 4 2
Define covariance.

RAReR ke |
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(r) Show that E(c) = ¢, where cis a constant.
ST @ E(Q = ¢, TS c T bl #7F |

2. Answer any five of the following questions :
: 2x5=10
{ wors i e ofiedt b T o
\ (a) Distinguish between arithmetic mean
‘ and harmonic mean.

AT IS SF WA T Trers #1437 3 2

(b) If the values of a variable of a series are
multiplied by a constant, what will
happen to standard deviation?

M @B 5o THRA QB! &9 IR 5[ 390
T, TS {6 e ereiee = 2

() Under what conditions binomial

distribution tends to Poisson
distribution?

A@EAREF 567 YRS @M IBT /b IGA
FERS W72

(d) A card is drawn from a pack of well
suffled pack of cards. What is the
probability that it is either a king or a
spade?
9B ST (P °[1 M 94 OIS Ber I,
(SR’ X & AR FAAN REAR !
o 2
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(5)

Write two demerits of systematic
sampling.

Tafeere afenre o1 S forat |

Distinguish  between  linear and
non-linear correlation.

24 F IF FDTIIE &S AL B |

If the first quartile (Q;) =30 and third
quartile (Q3) =35, find coefficient of
quartile deviation.

o e vEdieT (Q)) =30 SIF WOH vpefe
(03) =35 T, (TR TP 7=l e |

Write two properties of Poisson
distribution.

ogb 9%+ o1 & foran |

Mention two variables whose correlation
coefficient is zero.

< 1 To Ty 1 AN RTE A P
S |

What is moment?

g fe?
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3. Answer any four of the following questions : (c) Prove that
S E(aX £ bY) = aB(X) £ bE(Y) 5
wod f GIC BifRG! 2pe Teq fere
’ o1 $91 @&, E(aX + bY) = aE(X) £ bE(Y).
(a) Show that standard deviation is i \ Karl
, independent of change of origin but not (d) . What is skewness? Determine Rar
| of scale. 5 Pearson’s skewness from the following : 5
edl @ e oo = ARTE [T 7o Size B U3s rgiR0RL
8 3 ARG o[l Fog = | Frequency : 12 8 20 7 13
Sl [ 7 @IRT SIeRIAd o/ Ff PIcatad
(b) There are 3 economists, 4 engineers and SrfFer Bfere |
2 statisticians. If 3 persons are chosen
at random for formation of a committee. (e) Describe briefly different steps involved
What is the probability that in the in sample survey. S
committee there will be comd SR TS Tee e m EIFF
() one from each profession; I 997 |

() 2 economists and 1 istician; i i
bl (i In a S5-match one-day international

(iii) all engineers? 2+2+1=5 series involving India, two veteran
3 W wEIfem, 4 & wfewm W 2w batsmen made the following scores : 5
ARSI *R1 3 & o7 @B RS 0 S S Rl SR BB I ¢
b (3T 2 T (BT AR FA AR O
@) A MR AN & PR IR [GIREERE
) Player Score
5 -
i) 2 & Yoy s SEEl
< REC ’r@?i'?;m Filar : 1st ODI - 2nd ODI 3rd ODI . 4th ODI  5th ODI
| L : . B8 120 15 95 25
| (i) 3 R ST @R el KR 2 5 .. 46 69 80 65 45

A23/180
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(8)

Identify the better batsman and more
consistent batsman in the series.

WLEO® (e @O @R ©E wiE
e (@Opc &9 forre 441 |

Income of a group of 10000 persons
were found to be normally distributed
with mean ¥ 520 and standard deviation
is ¥60. Find—

() the number of persons having
income between ¥400 and ¥550;

(i) the lowest income of richest 500.

For a standard normal variate z, the area
under the curve between z=0 and
z=0-5is0:1915, the area between z=0
and z=1-645 is 0-4500 and the area

betweent=0and t =2is 0-47725. 5

10000 <=3 1 Rede M4 Kot g«
FEICS % 520 591 9 e [K6o 60 3
CoIR1 T |

(i) R > TR SR 400 B3 =F 550
IR A AT ?

(i) HRE S /M 500 wR foovw
hted I O9W  RAW e\
P(0<2z<0-5=0-1915,
P(0<2z<1-645)=0-4500 o
P0<z<2)=0-47725.

( Continued )

(4% )

4. Answer any four of the following questions :

10x4=40

o R I wifEet 2pee Teq feiel

(@)

Why is arithmetic mean known as ideal
average? State and prove the properties
of arithmetic mean. 2+8=10

sifafes oee Ry wred A I @R W2
ST sToq IREPR TS WF 29 91 |

() Show that AM >GM =HM. Calculate
mean and standard deviation from the
following table : 6+4=10
({31 (T AM 2= GM > HM. &5 OIffiFR Rl
5T o Y 5o Bferea

CI 09 10-19 2029 30-39

@ oFIA

Frequency 25 39 23 14

BIBSIRS

(c) State and prové addition theorem of
probability when the cases are mutually
exclusive. From a bag containing 4
white and 6 red balls, 3 balls are drawn
at random.

(i) Find the éxpected number of white
balls drawn.
(i) Find the expectation of drawing at
least 1 red ball. 4+3+3=10
A23/180 ( Turn Over )
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( 10 )

TBIReR @ ©ghl IE TF o4N9 F9 AWM
o 1 ARART IRgS =1 BT @or© 450
3501 S 651 987 191 oI | 361 79 Tt 24 |

(i) 3N I CIRE MNAST erom Tferea |

(i) FHCFS 151 T¢ 79 (IRE NART 2o
Sfenean |

Derive the mean and variance of
binomial distribution. On an average
2% of population in an area suffer from
TB. What is the probability that out of 5
persons chosen at random from this
area, at least 2 persons suffer from TB?

6+4=10

fRel o9 T % 2P Slredr | 93w SRe
1o RO 2% TEd TH R | G’ RG] o[
M 5 T AR IqRFE AR TR =W,
(SR’ FAACPS 2 T TR TH QAR
RISl fFm 2

Distinguish between sampling error and
non-sampling error. “Sample survey is
advantageous than
enumeration.” Explain .

complete

dforr @ o1 waform BT were e
forr 1 “efors ST Sod mrete e
FARYES 1”7 7 40

( Continued )

5+5=10

(7]

Age of husband

(11)

Write short notes on stratified sampling
and purposive sampling.
TAgS ST WF SRS (13 CESCR I

5y GBrt o |

What are the underlying assumptions of

Karl Pearson’s correlation coefficient?

Find Karl Pearson’s correlation

coefficient from the following :

oo Pratw TR RN Wik
SforRePER frel | S SR W P
It ST A fered :

23 30 35 28 41 45 53

199 1

Age of wife

) 093 08,0735 o% W8

7

(h)

@)

0)

A23—4500/180

Interpret the result.

FoFa A A

State and prove the properties of
correlation coefficient.

TR SR (AR TS S T
Explain the main properties of normal
distribution.

e I T CIFEPTR SCeTo=l 1 |
Show that in Poisson distribution, mean
is equal to variance.

o1t 1 @ 2D 3B TG S 2PRT T A |

* %k

5+5=10

10

10

10
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